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1. Symmetric equations for the line of intersection of the planes « + 2y + 32 = 1 and
r—y+2z=1 are given by
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2. The point of intersection of the line whose parametric equations are
r=2-2t y=3t z=1+tand the planex+2y—2z =Tis (a,b,¢), thena+b+c=
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3. The equation of the plane through the point (3, —2,8) and parallel to the plane
2 =71+ yis given by

Nz <N,

(@) 24+y—-24+7=0 EcLumk‘ay‘ of the blone o
(. Y T(x-2)+ 1 (4+2)-1(zZ-8)=0
() 2r+y—-2-4=0
(@) z+2y—24+9=0 X AY-Z -342+8=0
)
Pl

4. Which of the following statements is true about the surface

P+ -4 -2y —22+4=0

(a) circular cone with vertex (2, —1,1) and axis parallel to y-axis

(b) circular cone with vertex (—1,0,2) and axis parallel to y-axis

(c) circular cone with vertex (0,0,0) and axis parallel to y-axis

(d) circular cone with vertex (—1,—1,—1) and axis parallel to y-axis
(

(e) circular cone with vertex (1,3,0) and axis parallel to y-axis

C DC-‘?)&-— ¥ = (i+\)2+1 . (2-1)‘3—1 4150

Q:x—a)Q 4+ (Z-DF = (‘l+’)’2
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5. Consider the following statements about the surface
ot =4 — 4% + 2

L. Axis of symmetry is the y-axis.
II. The surface is called hyperboloid of one sheet

III. The surface is called hyperboloid of two sheets
IV. Axis of symmetry is z-axis

Which of the following is true?

ST 4‘}3— %‘2; 4
2 2

(a) Il and IV T G
(b) I and II . i o2 J
(¢) III and IV Hyberbalerd o} ”q’}teejr ambg_
(d) I and III ain of  Aymmely a5 Z-oF
(e) Tand III
it
= xompe ¢

6. The domain of the function

f(z,y,2) =In(z — y) + yzcosz

Docx-y) definad Fov X450

(a) {(z,y,2) € B®: z >y}
(®) {(z,y,2) € R®:x < 2}
(¢) {(z,y,2) € R®:y > 2}
(d) {(z,y.2) € R®:y < 2}
(e) {(z,y,2) € R®: 2 + 22 =1}
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7. The range of f(x,y) = In(16 — 22 — ¢?) is

Daomasrn = 3\(9(;‘4): \G-x(l—\}&>o}

(a) (—00,41In2

(b) (—o0,In2] —00 £ Z = Fuy) 4 /Qn\C:‘FJnl
(C) (_0071115]

(d) (—oc,2In2]

(€) (=00, 00)

8. The level curves of f(z,y) = /22 + y? are

(a) a family of circles Lek Fexy)= € . hken
(b) a family of ellipses

o ) .
(c) a family of lines C = xra gy

(d) a family of parabolas Cg/l - ~2 _pa'i
(e) a family of hyperbolas i
e 7.6 = civdles with
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9. The limit

8z% sin y
im 0¥
(@¥)=(0,0) 33 + 5y

Alm\a /Qw'i( N=0 "

(a) does not exist j‘;\:o 533 =0
(b) is equal to 0 Aleng Line 4o |

(c) is equal to 1 j 3 F

(d) is equal to —1 )\(v:\s . 8 ‘xz S ( :
(e) is equal to co %> 4+ 5X

Ly r\ DN

10. The limit
. r+2y—9
lim ;
¥)-63) VT + 2y — 3 {“—19' +3
G . ~4+2Y- 9 _ 124 ‘_

™ b |
P32 sy Toy -3 Iy +3
(a) is equal to 6

(b) is equal to 9 — Jz\m m +3

(c) does not exist (x,9)-03,3

(d) is equal to 3 _ m 43

(e) is equal to 1
= 3+ 3

= 6
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11.

2—-2cos(z+y) .
f(e, 0,0 = 24 g, Thep
If f(o:,y)z{ Gryf @ V700 Lek U=+d, T
' Ml =00 Dy asaweny)
then f(z,y) is CoN) =(00) Cx4Y4)2
c A 2-2@M ()
0,0) onlyif k =1 S e
ti t (0, if k = . .
(a) continuous at (0,0) only i ~ e 389U - )
(b) continuous at (0,0) only if k = —1 L0 QG
(c) continuous at (0,0) only if k=0 > _h Ahold bR QDL\m) bo
(d) not continuous at (0,0) for all values of k A for e Funthom

(e) continuous at (0,0) for any value of the real number k& fFouy) 4o be
Conhrucus of (8,0):

12. If f(z,y) = tan~}(z + y?), then f,(1,2) =

|
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13. If f(z,y) = cos(¢?y), then Fol@,y) — fylz,y) =

[, = - 5w (x?Y). 2>

() (&~ 229) 5n(a%) N R
(b) zsin(z%y)

(c) 2 cos(z%y) FI LYY - ¥a (X, \J)

(d) 2-’173!008(:1723/) - @9\ _ Q'X\j) o1 Cx'),j)

(e) (2? + 2zy) sin(zy)

sty

gxt

-~

14. The base radius and height of a right circular cone are measured as 10 cm and 25

e

cm, respectively with a possible error in measurement as much as 0.01 cm in each.
The maximum error in the calculated volume of the cone is

(Hint: volume of a cone is V = —71323)
AV
dv= 2L v+ Y 4k
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(5) 3 — 9___,__&’\’ + X
(¢ Ewvvor A of woes) |4y <_c~°’/\“‘| doe
(d) 4m e Yobe dv = 010) omd dh=010)
(e) 5m

dv= 275:1925 ra0)) 4 -——%‘iC‘”’)
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15. Consider the function f(z,y) = yln (ﬁ) The linearization L(z,y) of f(z,y) at the
point (e, 1) is:
fe, )= 1 dnce) =)
. 4
Fx GULYY = Y —';(j_l\g T
d

F%C'X)‘Hf dn (3—%) 4+ 9 —li’—(' ?9)

= M (%) -

Py, 1) = An€ -1 = =i

A Heante, N, 0
)ﬁ;/;jgﬁk“ Lixgy = 4+ (x-ed.dg 4 Co-ip

> =, A
\+« X - = =

(a) L(z,y) =
(b) L(x,y) =
(¢) Liz,y) =
(d) L(z,y) =

(€) L(z,y) =
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+ +
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16. If e = zyz, then % =
oz

(a) =22 e =Sx

et —zxy
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17-If3=§,$=96t, y=1—se”t,thenl~5at:z=3,y=—2,andt_—_015
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19. The equation of the tangent plane at the point (—3,1, —2) to the ellipsoid
2

& 2 4 w2

— 4y +2=6

9 Y

isar+by+62+18=0. Thena+b=
9 - { 2 1\;1)3IZ>

CT

EZ; _3 Vi3, = (- 2.3_ 52, ,4>

() -1 Equehon of Hhe +cuna,en} Hlona A
(d) —4 - 2 (x43) £ (Y1) —4(24)=0
(€) =5 __15_1_1+1\J_2_42~8:0
*“Yx+éy»vrz—é-e-24=o

\A X ~-3Y 4+ 6Z +18=0
A=l Y -

exer™ a =), b= -2 L a4bs

20. The directional derivative of f(z,y, 2) = ze¥ + ye* + ze® at (0,0,0) in the direction
of =<-3,1,2 > 1s

Z X
V:F = (C\f—‘-%e() ')Lcj"'e%) Fe ¢ >

0
(a) 3 V«F(o}c/c) - < ‘J ‘) ‘>
(b) ——=
1\/1_4 9 = L2000
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2 —
(@ = Ji¢
(@ 1 Def = VoV
SEPER R (=2 ),27
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e*c{U — = 3'\"‘3’2 - 0
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